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. —FAREA R ER B T Rk A S HBe bR A% RE 8BS A4 % B3 R ata
M- (1) RiiEeik B AAT X &4 HBe R F 80% (2) AF#R4t B AUAT £ &% HBe R % 50% ;
() CHAETEEESN BUNXEL HBe REE 20% - FH HBe AR T A B AU B 5 H4IE
PERT R B R BT b fo B s —BE PHREB T 2 AHHB 265 H)

2. FHAUPSEE 50K - AT S 500 per 100,000 person-year » ZH AT FHEHR 0K -
7t £ % 300 per 100,000 person-year - FF ZEARFREFARLTENTFHRE? AHHE ? dofT
ERMLEBHEBRILCE? PHBFEMETH G H)

3. 1970 FR—AFFHBAEERFLE6% 44 B Hormone Replacement Treatment (HRT) #-F & X
BB A AN > 24 TH#E F#% adjusted odds ratio 10.1 (95% CL: 7.8 t0 15.2) - K fa K £ 4%
RBHEZARGE (detectionbias) ¥4 % > B A HRT H L F RSB RS LEBRE N Lh IS
ARRE  BEFHANIFTRESE RERFSAHBHEOHRERLIRARRELE AME
EMEEAWER - SR ERRTEE? BHE 25 )

4. —RURRERBLERAENATREFRRIVERBERE LR EY RSB EERER
RATENHG - EHNECTEABTORTH » SHEE5 842 % % A ¢ adjusted hazard ratio
(aHR) 2.5 (95% confidence interval [CI]: 0.8 t0 4.0) ; M42% & B & aHR 1.001 (95% CI: 1.0009 to
1.0011) - HFIRBERHARL » F—EEHBREL? HHBIGC 2)

5. BREN
(1) &% FH& g (Highly pathogenic avian influenza, HPAY) (5 4)
(2) HR&EH R % (Latent tuberculosis infection, ETBI) (5 )
(3) HIV ;&6 & Bp A5 (HIV treatment as prevention, HIV TasP) (5 4+)

6. £—18BME 45 R L AR E B AER CAEE M BARR - 4855 A% &0 I8 E 85 218
R1626 A MBEEIRR 1840 2 B BEELENFE LAY EO LTRG-S FEEY

EHWIE 140 LA L > £S5 SR RELEF T LR Tl LHEBERLCIEE - B2 4

TF
RH b
v5 i oG B °5 & F o8 A
SR E R R AR 19 46 78 25
& Hm AR 609 1478 920 291
A 628 1524 998 316

(A5 % $5cth (study design) 247 2 d b F A1 LA 56 60 U T B 0 FTAL AT 75 28 45 4038 4 MUAR 38 86
BEWRH 2@ D) ‘

()4 5 #1 G B A s BUR K o) B % BUIREF B4R B B — 18- # (confounder) & 5 46 B -F-(effect

modifier) 7 ¥ A BTG RE BT 2 (7 5)

ClAm AHNMMEH GBI CHRENBRARE S A MEBE ? B £2E4 ) NGB wIEE
7% Bl 2 B 4% ¢ 7 ¢ ¥ (direction of association) § & £ R L% 2 @ )
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7. RERFRTZMR AR LGATRER © GRS R BRI R B R TR A8 - T A6 .o BT B A S
W BRI H B o XA B RS AT R B B 8 4% > 43 3% 10000 £ %5 R B BB RS By R A 5 HE B AT
RE BRI BBE0BRE USSR © —Ri5E HBH U BFUATER -

ER S
H RSB RE £ RS AT
R AR 20 40
B AH 2000 8000

(1) RE B AT 4% & o4 88 (sensitivity)fo 45 £ % (specificity) ¥ 2 1.0 » S BFBFF0 48 s 448 AR
BHRM? 24)

(2)3 Ba BT AT 4R & 69 UK JE (sensitivity) & 0.5 » M43 £ B (specificity) 2 1.0 » Q1FF 5835 + 6 A2 546 AR
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B A (a) (b)
4 © (d)

() R BT AT #r B 9 U JE (sensitivity) & 1.0 > 4% £ B (specificity) 2 0.5 » RIS 2 34k * & ABTH AR
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8. RBFR SRR B & (overweight)fo Sk B BB 69 M 4% - b it —
HIBORAZRERAE M ERERRERABALBUALYRE —BRENRERES
SIHFWMARA > B-BREAFBGIGEE - BARHEEEL AL - £ 580 £ 0N ES T
(individual maiching) » 48 d7 ] -3 R K B AT — F(HA LB B AR H FHH BEE) L 85—
FEMFEHRARDNS G - BERAATEOARBFEH - BEndlaf )BT nYna
GNBXMEREANIEER) > HEHBE T2%H %5 M EQ8%IER) -
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9. Inthe process of calculation, what is exactly the same for “incidence density” and “cumulative incidence”
in cohort studies? What makes them different? If you have a choice, which one do you prefer? Why? (10

) (TEFAT X HKEXHEL)
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10. How to evaluate a screening tool when the measurement outcome is binary (i.e., dichotomous), assuming

1.

we have the true value of disease status in the screened population? How about the situation that the

screening outcome measurement is a continuous variable? [Please explain them with a table/figure for each

partl] (10 57) (TRF A F X KA XHE)

Please calculate the Standardized Rate Ratio (SRR) for Town A / Town B with the sum of the population
from these two townships as standard population! (8 4-) Comparing to the crude rate ratio, is the SRR a
better estimation for the relative risk of incidence? Why? (2 4°) (T2 A P X R % X %)

Age-specific Incidence Rates by Townships

Town A Town B
Age Group
(years old) Population  Cases | Population Cases
0-44 13,681 150 23,061 1,051
45-64 8,838 102 24,120 312
65+ 2,253 149 65,030 633
Total 24,772 441 112,211 1,996
gﬁfe Incidence " 178% 1.78%
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